PROGRAM: 1560	
SUBJECT: Upfit of Evidence Technician Vehicle	
Background: On 4/5/2023 UCSO received a 2023 Chevy Silverado from the County's Enterprise fleet program for use by our evidence technician. This vehicle requires special upfitting to make it fully functional for that need.	() <u>ACTION REQUESTED</u> : Approve upfit of 2023 Chevy Silverado by VLS in the amount of \$12,254.59 .
 On 4/5/2023, UCSO reached out to four upfitters that could conduct the work: RACOM in Spokane Washington, Day Wireless in Kennewick Washington, UCFD1 in Hermiston, Vehicle Lighting Solutions (VLS) in Logan Utah. 	
Only two of the four responded with quotes. VLS not only came in with the lowest cost (over \$4700 less), but also had the best lead time to complete the work. VLS quoted the upfit cost to the 2023 Chevy Silverado at \$12,254.59.	
ATTACHMENTS: Date: () Submitted By: (Josh Roberts)	
*******For Interna	d Use Only********
Checkoffs: () Exec. Asst. () Dept. Head (copy) () Human Resources (copy) () Budget (copy)	To be notified of Meeting: Undersheriff Jim Littlefield Captain Paul Wolverton Lieutenant Josh Roberts
() Fiscal () Legal (copy) () (Other - List:)	Needed at Meeting: Captain Paul Wolverton Lieutenant Josh Roberts
***************	*******
Scheduled for meeting on: May 23, 2023	
Action taken:	
**************************************	*******

AGENDA ITEM FOR ADMINISTRATIVE MEETING

FROM (DEPT/ DIVISION): UCSO/Criminal

() Discussion only() Action



Quotation

Date	Quotation #		
3/15/23	16032		

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801 Attn: Josh Roberts

josh.roberts@umatillacounty.gov

	Terms	Rep	FOB	Vehic	cle Type
	Net 30	ZBW	Destination	'23 Chevy S	Silverado 1500
Item	Description		Qty	Unit Price	Total
	**** Umatilla 2023 Chevy Silverado 1500 Forensic Package ****				
TLI2D	ION T Series Super LED Red/White M	Tounted in the Gri	1 2	113.40	226.80T
TLI2E	ION T Series Super LED Blue/White M Grill		2	113.40	226.80T
VLSGBTLI	Universal Mounting Bracket		4	16.95	67.80T
TLI2J	ION T Series Super LED Red/Blue Mounted on Rear Of Shell/ Slip in Canopy			113.40	226.80T
TADF8	Eight DUO Linear Traffic Advisor Mounted on The Rear Top of the Shell/ Canopy		1	1,277.40	1,277.40T
VLSGB3	Universal Mounting Bracket		2	14.95	29.90T
UHF2150-A	Headlight Flasher		1	53.40	53.40T
ETFBSSN-P	Solid State Taillight Flasher		1	68.00	68.00T
HHS4200	Whelen Handheld Siren and Light Control with PA		1	498.60	498.60T
SA315P	SA315 Series Siren Speaker		1	234.60	234.60T
SAK62D	Siren Speaker Mounting Kit for Chevy Silverado 1500, 2017-2021, Driver Side		1	27.00	27.00T
LED-D2FC	2" Flood Beam Light (2,200 lm) Clear Lens. Mounted on Rear, and each side of Shell for Scene Lighting		6	64.99	389.94T
PSC0CDCR	Super-LED Compartment Light, Intensity Level 3, Frosted Lens		4	122.40	489.60T
Samlex 800	Samlex 800 Watt Modified Sine Wave Inverter Mounted in One of the Rear Shell Compartments And Behind the Driver Seat *** WIRED TO IGNITION*****		2	132.65	265.30T
80ARLY	80A 12V Power Relay.		2	46.95	93.90T
TM8U	Stainless steel low profile trunk lid mount with 17' RG58U solid center cable, no connector.		1	36.80	36.80T
MLPV700	Low profile antenna, 740-870 Mhz, 3d	b gain.	1	36.95	36.95T
Customer Supplied	Customer Supplied Radio		1	0.00	0.00T

Total

668 West 9320 South Suite B Sandy, UT 84070 ~ Phone (801) 676-4983 Fax (801) 676-4993 ~ Toll Free (800) 748-4484



Quotation

Date	Quotation #		
3/15/23	16032		

Customer

Umatilla County Sheriff 4700 N W Pioneer Pl Pendleton, OR 97801 Attn: Josh Roberts

josh.roberts@umatillacounty.gov

	Terms	Rep	FO	В	Vehic	le Type
	Net 30	ZBW	Destin	ation	'23 Chevy S	ilverado 1500
Item	Description		Qty	,	Unit Price	Total
Misc Sales	A.R.E. DCU Wedge 23"- 29" Shell / Canopy: Double Full Door with Windows, Divider Option #9 on Dr & Pass Side, Full Length Standard Tool Box on Both Dr. & Pass. Side, Over the Wedge Ladder Rack wth One Center Support, Security Screen Double Window Rear			1	5,200.00	5,200.00T
Misc Sales	Move Back up Camera from Tail Gate Shell			1	0.00	0.00T
Installation Supplies Shop Labor-C				1	335.00	335.00T 2,470.00T
	Installation Hardware Shop Labor Sales Tax Exempt				0.00%	0.00
Prices good for 30 days.				Tota	al	\$12,254.59

668 West 9320 South Suite B Sandy, UT 84070 ~ Phone (801) 676-4983 Fax (801) 676-4993 ~ Toll Free (800) 748-4484



RACOM - SPOKANE 16608 E SPRAGUE AVE SPOKANE VALLEY, WA 99037

Quote #	212750
Customer #:	90604
Date	04/20/2023
Expiry Date	05/20/2023

Bill To:

UMATILLA COUNTY SHERIFFS OFFICE 4700 NW PIONEER PL PENDELTON, OR 97801

Ship To

UMATILLA COUNTY SHERIFFS OFFICE 4700 NW PIONEER PL

PENDELTON, OR 97801

JOSH ROBERTS, Phone: 5419663650 JOSH.ROBERTS@UMATILLACOUNTY.GOV

Item Number	Description	Unit Price	Qty	Extended Price
UHF2150A	FLASHER, HEADLIGHT/GRILLE, 4 FLASH	\$77.01	1.00	\$77.01
HHS4200	WHELEN HHS SERIES SIRON CONTROL W/HAND HELD	\$583.58	1.00	\$583.58
SA315P	SIREN SPEAKER, 100 WATT, WHELEN	\$222.38	1.00	\$222.38
SAK62D	MOUNTING KIT FOR SIREN, SILVERADO	\$0.00	1.00	\$0.00
TM8U	ANTENEX TRUNK LID MOUNT	\$25.00	1.00	\$25.00
MLPV700	ANTENNA, 740-870 MHz, LOW PROFILE	\$35.00	1.00	\$35.00
ETFBSSN-P	REAR FLASHER, ALTERNATING	\$82.20	1.00	\$82.20
FRONT R/W	WHELEN TLI2D RED/WHITE MOUNTED ON GRILL	\$114.92	2.00	\$229.84
FRONT B/W	WHELEN TLI2E BLUE/WHITE MOUNTED ON GRILL	\$114.92	2.00	\$229.84
REAR R/B	WHELN TLI2J RED/BLUE MOUNTED ON REAR OF CANOPY	\$114.92	2.00	\$229.84
REAR T/A	WHELEN TADF8 8 MODULE TRAFFIC ADVISOR RED/AMBER BLUE/AMBER MOUNTED TOP OF CANOPY	\$1,824.85	1.00	\$1,824.85
FLOOD LIGHTS	WHELEN NP6BB 6 LED NANO SCENE LIGHT 2X MOUNTED DRIVER SIDE CANOPY 2X MOUNTED PASS SIDE CANOPY 2X MOUNTED REAR FACING CANOPY	\$177.61	6.00	\$1,065.66
INTERIOR LIGHTS	WHELEN PSCOMPH INTERIOR CANOPY LIGHTING	\$148.65	4.00	\$594.60
INVERTER	XANTREX INVERTER 1000W	\$430.00	2.00	\$860.00
INVERTER SWITCH	XANTREX REMOTE ON/OFF SWITCH	\$52.29	2.00	\$104.58
/N/I PART	80A RELAY	\$34.32	2.00	\$68.64
/N/I PART	A.R.E CANOPY A.R.E. DCU Wedge 23"- 29" Shell / Canopy: Double Full Door with Windows, Divider Option #9 on Dr & Pass Side, Full Length Standard Tool Box on Both Dr. & Pass. Side, Over the Wedge Ladder Rack wth One Center Support, Security Screen Double Window Rear, and Rear Camera Relocation.	\$5,500.00	1.00	\$5,500.00
/MISC	MISCELLANOUS INSTALL PARTS FUSEBLOCK, TERMINAL STRIPS, WIRE, LOOM, MISC BRACKETS	\$250.00	1.00	\$250.00

Report Date: 4/20/2023 1:36:34 PM CST



RACOM - SPOKANE 16608 E SPRAGUE AVE SPOKANE VALLEY, WA 99037

Quote #	212750
Customer #:	90604
Date	04/20/2023
Expiry Date	05/20/2023

		N SERVICES 360 LIGHTING INSTALL, CANOPY LIGHTING, INVERTER I BE RESPONSIBLE FOR VEHICLE DELIVERY AND PICKUP	\$5,000.00	1.00	\$5,000.00	
	·		SubTota	ıl	\$16,983.02	
Shipping and Tax Charges are Estimates Only. Actual Invoice Costs May Vary				x	\$0.00	
			Tota	I	\$16,983.02	
Notes						
Sales Rep:	Brandon Grimmett	Email: brandon.grimmett@racom.net	Phone: ()-			
		specifications and conditions are satisfactory ne goods and services as specified in this pro		Γhe undersign	ed herby	
Accepted By:		Signature:	Date:			

Report Date: 4/20/2023 1:36:34 PM CST Page 2 of 2